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Candidate:
Telescope:

Epochtopo
Epochbqry

3.27Hz_Cand
Arecibo
= 55519.80593748347
= 55519.80394141711
6.5476e—-05

Search Information
= 19:13:44.1257 DEC
Best Fit Parameters
P(N0|se) < 1.85e-29

RA\JZOOO

Reduced x = 3.517

J2000 ~

11:52:11.5271

(~11.20)

D|sperS|on Measure (DM; pc/cm®) = 646.794

(ms) = 306.0542(22) (ms) =

= 306.0336(22)

4bit—p2030.20101119.G46.12+00.62.S.b5g0_0001 .fits

sample topo —7 bqry —7
Data Folded = 3909120 topo (s/5) = 3.43(68)x10 bqry (s/s) = 3.43(68)x10"
Data Avg = 7.956e+04 P opo (s/s?) = 0.0(1.7)x107° P bary (s/s?) = 0.0(1.7)x107°
Data StdDev = 4446 Binary Parameters
Profile Bins = 100 P () = N/A e = N/A
Profile Avg = 3.107e+09 a,sin(i)/c (s) = N/A w (rad) = N/A
Profile StdDev = 8.791e+04 Tperi = N/A
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